Cll# Tao thanh s6 10 (Bang phép cong) Ho va Tén:
Tao thanh s6 10 dé giai phép tinh. CAu tra loi
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Vd)7+9:7+3+6 vd. 6 _16

10 + 6 =16

D 7+48=7+ +
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) 7+6=7+ +

3 8+8 =28+ +

Y 6+8=6+ +

5 5+9=5+ +

6) 8 +9 =28+ +

N 5+6=5+ +
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ﬂh Tao thanh s6 10 (Bang phép cong) Ho va Tén: L0l gial

Tao thanh s6 10 dé giai phép tinh. Chiu tra loi
3 6
V&) 7+9=7+ 3 + 6 i S
- ] T 5 s
10 + 6 = 16 3

D 7+8=7+3+5 —sa
10 +5=15 T
5
A S ¢
D 7+6=7+3+3
10 + 3 =13

3) 84+48=8+ 2 + 6

Y 6+8=6+ 4 + 4

5 5+49=5+ 5+ 4

6) 84+9=8+ 2 + 7

N 5+6=5+ 5+ 1
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